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Q.1) Which one of the following statements

correctly describes ‘Doctrine of Eclipse’

a) it means that two conflicting provisions of
law should be interpreted in such a way that
each has a separate effect and neither is
redundant or nullified.

b) There must be a reasonable balance
between the desired result and the
measures taken to reach that goal.

¢) It determines a question of competency to
enact a law when a legislature oversteps its
conferred power.

d) It states that any law which is inconsistent
with fundamental rights is not invalid.

Q.2) Which of the following pairs is/ are
correctly matched?

Type of Type of Members
Municipal Body
1. Cantonment Partly elected and partly

Board nominated
2. Notified Area ~ Wholly nominated
Committee
3. Town Area
Committee
Select the correct option using the code given
below:
a)land 2 only
b) 2 and 3 only
¢)1and 3 only
d)1,2and 3

Wholly elected

Q.3) Consider the following statements:

1. The Zero Hour is the period during which
members are free to raise any matter
without prior notice to the speaker.

2. In question hour, questions can be asked to
both the ministers and private members.
Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2

Q.4) Which of the following statements is/are

correct regarding the National Population

Register (NPR)?

1. It is prepared under the provisions of the
Census Act, 1948.

2. Itis mandatory for every resident of India to
register in the NPR.

3. NPR database would contain demographic
as well as biometric details.

Select the correct answer using the code given

below:

a)land 2 only

b) 2 and 3 only

c)1and 3 only

d)1,2and 3

Q.5) With reference to the Union Government,

consider the following statements:

1. The Department of Revenue is responsible
for the preparation of Union Budget that is
presented to the Parliament.

2. No amount can be withdrawn from the
Consolidated Fund of India without the
authorization from the Parliament of India.

3. All the disbursements made from Public
Account also need the authorization from
the Parliament of India.

Which of the statements given above is/are

correct?

a) land 2 only

b) 2 and 3 only

c) 2only

d) 1,2and 3

Q.6) With reference to 'Old and New social
movements' in India, consider the following
statements:

1. Unlike Old social movements, new social
movements largely focus on quality-of-life
issues.

2. In old social movements, the role of civil
societies organizations was central, whereas
in new social movements political parties
have assumed the central role.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2

Q.7) Which of the following have been
pronounced as a part of the Basic Structure of
the Constitution in India?

1. Secularism

2. Reservations

3. Federalism

4. Freedom and dignity of the individual

5. Effective access to justice

Select the correct option using the code given
below:

a) 1,2 and 3 only

b)1, 3,4 and 5 only

¢) 2 and 4 only

d)1,2,3,4and 5
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